Chapter 8 Test B		Name: 
	1. Simplify 

3s-8t


	Solution_______________

	2. Simplify 

(-2)0



	

Solution_______________

	3. Simplify 

4x103x-4



	Solution_______________

	4. Simplify 

5x-9 3x7



	Solution_______________

	5. Simplify

(a2)5


	Solution_______________

	6. Simplify

(4g3)-3


	Solution_______________

	7. Simplify

(2m3)-4  (mn)3



	Solution_______________

	8. Simplify

58
53


	Solution_______________

	9. Simplify

a4b  
a5b3



	Solution_______________

	10. Simplify

b5 
b10



	Solution_______________

	11. Simplify

()-3




	Solution_______________




SLOT
	Simplify

(4x3 + 5x2 + 8) + (5x4 + 5x3- 8)




Solution____________________
	Simplify

[bookmark: _GoBack](4x3 + 5x2 + 8) - (5x4 + 5x3- 8)




Solution____________________



